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0 8.1. (Vz.P(z) = Q(z)) = (Vy.P(y)) = (Vz.P(z)) 00 0000000000000

(Ax) ———(Ax)
I'-Vz.P(x) = Q(x) (VE) I'-Vy.P(y) (VE)
I'-P(z) = Q(2) ' P(z) B
TEPE) (=E)
TFVz.P(2) =)

(Vx.P(z) = Q(x)) F (Vy.P(y)) = (Vz.P(2)) (=1)
F (Vz.P(z) = Q(x)) = (Vy.P(y)) = (Vz.P(2))

00007 = (Va.P(z) = Q(z)), (Vy.P(y)0 2 ¢ FV(I)0ODOOO00000000000 O
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Va.Vy.P(x,y) - Vy.Vz.P(x,y)
Va.P(x) A Q(z) F (Vx.P(z)) A (Vz.Q(z))
(Vz.P(x)) V (Vz.P(x)) - Vz.P(x) V Q(x)

(Vz.P(x)), (Vx.Q(x)) F Vz.P(z) A Q(x)

(Vz.P(x)) VQF Vz.P(x) VvV Q

Vo Vy.P(x,y) - Vz.P(z, z)
Vz.P(x) b Va.Vy.(P(z) A P(y))
Va.P(x) Ve Ny.(P(f(x,y)))

0000 8.2. 000
((Vy.P(y)) = Q(w)) A P(w) = (V2.Q(2))
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0000 83.0000000000000000
(Vw.((Vy-P(y)) = Qw)) A P(w)) = (V2.Q(2))
00000000000000000000000 O

godd 8.4.
F=((Vx.S(c,x) = =S(z,x)) A (Vz.S(x,2) = =S(c, x)))

gooooo U



